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PERMUTATIONS AND COMBINATIONS

Exercise 7 1

1. How many 3-digit numbers can be formed

from the digits 1, 2, 3, 4 and 5﻿ assuming that 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ab66kViqR34v


﻿ (i) repetition of the digits is allowed?﻿ 

(ii) repetition of the digits is not allowed?﻿

Watch Video Solution

2. How many 3-digit even numbers can be

formed from the digits 1, 2, 3, 4, 5, 6 if the﻿

digits can be repeated?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_ab66kViqR34v
https://dl.doubtnut.com/l/_oIro2R2Aq2oD


3. How many 4-letter code can be formed

using the first 10 letters of the English﻿

alphabet, if no letter can be repeated?﻿

Watch Video Solution

4. How many 5 - digit telephone numbers can

be constructed using the digits 0 to 9 if each

number starts with 67 and no digit appears

more than once ?

Watch Video Solution

https://dl.doubtnut.com/l/_VhmndIcc3PeS
https://dl.doubtnut.com/l/_uRY3htlcQ9Jq


5. A coin is tossed 3 times and the outcomes

are recorded. How many possible outcomes

are there ?

Watch Video Solution

6. Given 5 flags of different colours, how many

different signals can be generated if each

signal requires the use of 2 flags, one below

the other ?

Watch Video Solution

https://dl.doubtnut.com/l/_uRY3htlcQ9Jq
https://dl.doubtnut.com/l/_2OgpHGKAn0Lk
https://dl.doubtnut.com/l/_KDflhbvsngZk


Exercise 7 2

1. Evaluate : 

Watch Video Solution

8!

2. Evalute : 

4 ! -3 !

Watch Video Solution

https://dl.doubtnut.com/l/_KDflhbvsngZk
https://dl.doubtnut.com/l/_CUqcWvm55ZSp
https://dl.doubtnut.com/l/_T9Bs2QJtW5jw


3. Is 3! + 4! = 7!?

Watch Video Solution

4. Compute 

Watch Video Solution

8!

6! × 2!

5. If , find x

Watch Video Solution

+ =
1

6!

1

7!

x

8!

https://dl.doubtnut.com/l/_T9Bs2QJtW5jw
https://dl.doubtnut.com/l/_X9M4RdcyFdSH
https://dl.doubtnut.com/l/_ySzIKE6y4BFM
https://dl.doubtnut.com/l/_YBsEsPIVypa1


Exercise 7 3

6. Evaluate :  when (i) 

Watch Video Solution

,
n !

n − r !

n = 6, r = 2(ii)n = 9, r = 5,

1. How many 3-digit numbers can be formed by

using the digits 1 to 9 if no digit is﻿ repeated?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_YBsEsPIVypa1
https://dl.doubtnut.com/l/_7cXpasiP9FaB
https://dl.doubtnut.com/l/_yzDftMad44NA


2. How many 4-digit numbers are there with

no digit repeated?﻿

Watch Video Solution

3. How many 3-digit even numbers can be

made using the digits﻿ 1,2,3,4, 6, 7, if no digit is

repeated?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_yzDftMad44NA
https://dl.doubtnut.com/l/_LPIfJuI0fiFg
https://dl.doubtnut.com/l/_o8oodFcWWrwg
https://dl.doubtnut.com/l/_RHRcOqtUo36G


4. Find the number of 4-digit numbers that

can be formed using the digits 1, 2, 3, 4,﻿ 5 if no

digit is repeated. How many of these will be

even?﻿

Watch Video Solution

5. From a committee of 8 persons, in how

many ways can we choose a chairman﻿ and a

vice chairman assuming one person can not

hold more than one position?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_RHRcOqtUo36G
https://dl.doubtnut.com/l/_CxBk2R6j2cFh


6. Find n if .

Watch Video Solution

n − 1P3 : nP4 = 1: 9

7. Fine r if (i)  (ii) 

Watch Video Solution

5Pr = 26Pr− 1
5Pr = 6Pr− 1

8. How many words, with or without meaning,

can be formed using all the letters of﻿ the word

https://dl.doubtnut.com/l/_CxBk2R6j2cFh
https://dl.doubtnut.com/l/_YtWA9NrDT8FL
https://dl.doubtnut.com/l/_4reeYk3suFsq
https://dl.doubtnut.com/l/_QxOZ3dVEPgoe


EQUATION, using each letter exactly once?﻿

Watch Video Solution

9. How many words, with or without meaning

can be made from the letters of the﻿ word

MONDAY, assuming that no letter is repeated,

if.﻿ 

(i) 4 letters are used at a time,﻿ (ii) all letters

are used at a time,﻿ 

(iii) all letters are used but first letter is a

vowel?

https://dl.doubtnut.com/l/_QxOZ3dVEPgoe
https://dl.doubtnut.com/l/_5dWjcX3L0VjN


Watch Video Solution

10. In how many of the distinct permutations

of the letters in MISSISSIPPI do the﻿ four I's not

come together?﻿

Watch Video Solution

11. In how many ways can the letters of the

word PERMUTATIONS be arranged if the﻿ 

(i) words start with P and end with S, (ii)

vowels are all together,﻿ 

https://dl.doubtnut.com/l/_5dWjcX3L0VjN
https://dl.doubtnut.com/l/_radxJjXcwz6y
https://dl.doubtnut.com/l/_1i059pOeCRgN


Exercise 7 4

(iii) there are always 4 letters between P and

S?

Watch Video Solution

1. If , find .

Watch Video Solution

nC8 = nC2
nC2

https://dl.doubtnut.com/l/_1i059pOeCRgN
https://dl.doubtnut.com/l/_KsiR3rBqoAai


2. Determine n if 

 .

Watch Video Solution

2nC3 : nC3 = 12: 1

3. Determine n if 

Watch Video Solution

2nC3 : nC3 = 11: 1

https://dl.doubtnut.com/l/_r5dtmhzNNPla
https://dl.doubtnut.com/l/_Q44dKGSqy8sz


4. How many chords can be drawn through 21

points on a circle?﻿

Watch Video Solution

5. In how many ways can a team of 3 boys and

3 girls be selected from 5 boys and﻿ 4 girls?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_3COWWZn98pHp
https://dl.doubtnut.com/l/_amyZ6DxRepQX


6. Find the number of ways of selecting 9 balls

from 6 red balls, 5 white balls and 5﻿ blue balls

if each selection consists of 3 balls of each

colour.﻿

Watch Video Solution

7. Determine the number of 5 card

combinations out of a deck of 52 cards if there﻿

is exactly one ace in each combination.﻿

Watch Video Solution

https://dl.doubtnut.com/l/_hsJEZ6m0k046
https://dl.doubtnut.com/l/_RxJDqBijKLzF


8. In how many ways can one select a cricket

team of eleven from 17 players in﻿ which only 5

players can bowl if each cricket team of 11

must include exactly 4﻿ bowlers?﻿

Watch Video Solution

9. A bag contains 5 black and 6 red balls.

Determine the number of ways in which﻿ 2

black and 3 red balls can be selected.﻿

Watch Video Solution

https://dl.doubtnut.com/l/_RxJDqBijKLzF
https://dl.doubtnut.com/l/_UVbSwUkw2zOI
https://dl.doubtnut.com/l/_42bNOX2vE24j


Miscellaneous Exercise 7

10. In how many ways can a student choose a

programme of 5 courses if 9 courses﻿ are

available and 2 specific courses are

compulsory for every student?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_42bNOX2vE24j
https://dl.doubtnut.com/l/_8ydRBRe8emTx


1. How many words, with or without meaning,

each of 2 vowels and 3 consonants﻿ can be

formed from the letters of the word

DAUGHTER ?﻿

Watch Video Solution

2. How many words, with or without meaning,

can be formed using all the letters of﻿ the word

EQUATION at a time so that the vowels and

consonants occur together?﻿

https://dl.doubtnut.com/l/_4o5noKY2daU2
https://dl.doubtnut.com/l/_NeUnYCeFljX6


Watch Video Solution

3. A committee of 7 has to be formed from 9

boys and 4 girls. In how many ways﻿ can this be

done when the committee consists of:﻿ 

(i) exactly 3 girls ? (ii) atleast 3 girls ? (iii)

atmost 3 girls ?﻿

Watch Video Solution

4. If the different permutations of all the letter

of the word EXAMINATION are﻿ listed as in a

https://dl.doubtnut.com/l/_NeUnYCeFljX6
https://dl.doubtnut.com/l/_bJa7r3rh1Pgn
https://dl.doubtnut.com/l/_IrgFAxVRVohv


dictionary, how many words are there in this

list before the first﻿ word starting with E ?

Watch Video Solution

5. How many 6-digit numbers can be formed

from the digits 0, 1, 3, 5, 7 and 9﻿ which are

divisible by 10 and no digit is repeated ?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_IrgFAxVRVohv
https://dl.doubtnut.com/l/_EXcN9dO3ncLV


6. The English alphabet has 5 vowels and 21

consonants. How many words with﻿ two

different vowels and 2 different consonants

can be formed from the﻿ alphabet ?﻿

Watch Video Solution

7. In an examination, a question paper consists

of 12 questions divided into two parts i.e., Part

I and Part II, containing 5 and 7 questions,

respectively. A student is required to attempt

https://dl.doubtnut.com/l/_fiAABRoqq9LB
https://dl.doubtnut.com/l/_hzraSLw7ZrUE


8 questions in all, selecting at least 3 from

each part. In how many ways can a student

select the questions?

Watch Video Solution

8. Determine the number of 5-card

combinations out of a deck of 52 cards if each

selection of 5 cards has exactly one king.

Watch Video Solution

https://dl.doubtnut.com/l/_hzraSLw7ZrUE
https://dl.doubtnut.com/l/_pTI6dubdo8p8


9. It is required to seat 5 men and 4 women in

a row so that the wom even places. How many

such arrangements are possible ?

Watch Video Solution

10. From a class of 25 students, 10 are to be

chosen for an excursion party. There are 3

students who decide that either all of them

will join or none of them will join. In how many

ways can the excursion party be chosen ?

https://dl.doubtnut.com/l/_G5d32x6nmaH2
https://dl.doubtnut.com/l/_C9ORdQeaDTOR


Textbook Based Mcqs

Watch Video Solution

11. In how many ways can the letters of the

word ASSASSINATION be arranged so that all

the S's are together?

Watch Video Solution

1. If  then K =.......(
n

r
) = ,

n !

k

https://dl.doubtnut.com/l/_C9ORdQeaDTOR
https://dl.doubtnut.com/l/_rStNn7BEgjUg
https://dl.doubtnut.com/l/_xTXK2NmrvAUG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r !

(n − n) !

(n − n) !R !

(r(n − 1)) !

2.  then K = ......

A. 

(
n

r
) = ,

nPr

K

r !

https://dl.doubtnut.com/l/_xTXK2NmrvAUG
https://dl.doubtnut.com/l/_o0hKNyqZwGrG


B. 

C. 

D. 

Answer: A

Watch Video Solution

(n − n) !

(n − n) !R !

(r − 1) !

3. If  then n = ........ .

A. 20

B. 10

(
n

12
) = (

n

8
)

https://dl.doubtnut.com/l/_o0hKNyqZwGrG
https://dl.doubtnut.com/l/_qJusQmfWSQyK


C. 15

D. Not possible

Answer: A

Watch Video Solution

4. If  then r = …… ,

A. n

B. n -1

C. 0

(
n

r
) = (

n

r + 2
),

https://dl.doubtnut.com/l/_qJusQmfWSQyK
https://dl.doubtnut.com/l/_wrSC4DYd3O8F


D. 

Answer: D

Watch Video Solution

n −
2

2

5.  then r = ……

A. 33

B. 11

C. 22

D. 44

(
44

r − 2
) = (

44

r + 2
),

https://dl.doubtnut.com/l/_wrSC4DYd3O8F
https://dl.doubtnut.com/l/_mr35hH3k3orS


Answer: C

Watch Video Solution

6. If  then 

.

A. 11

B. 9

C. 45

D. 36

(
20

r
) = (

20

r + 2
) (

r

2
) = ....... .

https://dl.doubtnut.com/l/_mr35hH3k3orS
https://dl.doubtnut.com/l/_u941Fxnn9LST


Answer: D

Watch Video Solution

7. if  then x =

....

A. n - r

B. r + 1

C. n

D. n - r + 1

(
n

r
) + (

n

r − 1
) = (

n + 1

x
),

https://dl.doubtnut.com/l/_u941Fxnn9LST
https://dl.doubtnut.com/l/_kycC6QlnNTpG


Answer: D

Watch Video Solution

8. if  then a = ....

A. 3

B. 9

C. 12

D. 6

Answer: A

(
a2 + a

3
) = (

a2 + a

9
),

https://dl.doubtnut.com/l/_kycC6QlnNTpG
https://dl.doubtnut.com/l/_ioje8pkoQL61


Watch Video Solution

9.

= ........

A. 

B. 

C. 

D. 

(
10

1
) + (

10

2
) + (

11

3
) + (

12

4
) + (

13

5
)

(
14

6
)

(
14

7
)

(
13

6
)

(
14

5
)

https://dl.doubtnut.com/l/_ioje8pkoQL61
https://dl.doubtnut.com/l/_M2tsITQnr5zR


Answer: D

Watch Video Solution

10. if  is maximum then r = …… .

A. 35

B. 38.5

C. 39

D. 4

Answer: C

(
77

r
)

https://dl.doubtnut.com/l/_M2tsITQnr5zR
https://dl.doubtnut.com/l/_pFkMRL7cjRzy


Watch Video Solution

11. 

A. gt

B. lt

C. =

D. 

Answer: A

Watch Video Solution

(
33

10
).... (

33

8
).

≥

https://dl.doubtnut.com/l/_pFkMRL7cjRzy
https://dl.doubtnut.com/l/_OKC9JLl3Cojs


12. From 0 to …… when r increases,  also

increases.

A. n

B. n -1

C. 

D. 

Answer: D

Watch Video Solution

nCr

n

2

[ ]
N

2

https://dl.doubtnut.com/l/_OKC9JLl3Cojs
https://dl.doubtnut.com/l/_UXd9KklqUkmT


13. Number of diagonal of the polygon having

10 sides = ............

A. 35

B. 45

C. 55

D. 30

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_G2fgp1rAnJPR
https://dl.doubtnut.com/l/_YhN5xv2tamd1


14. if 

then n = .....

A. 19

B. 20

C. 18

D. 24

Answer: B

Watch Video Solution

18C15 + 2(18C16) + 17C16 + 1 = nC3

https://dl.doubtnut.com/l/_YhN5xv2tamd1


15. A person has 6 friends . He invites one or

more then one friends. For dinner in ….. Ways.

A. 61

B. 63

C. 18

D. 24

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CbHYvc33wjuP


Latest Exam Mcqs

Textbook Illustrations For Practice Work

1. There are 6 different noavls and 3 different

dictionary we have to select 4 nocvals and I

dictionary from them and arrange them on a

shelf such that the doctionary remain in the

maddle always, How many way this

arrangement will be done ?

Watch Video Solution

https://dl.doubtnut.com/l/_nZYRa1erzCW9


1. Find the number of 4 letter words, with or

without meaning, which can be﻿ formed out of

the letters of the word ROSE, where the

repetition of the letters is not﻿ allowed.

Watch Video Solution

2. Given 4 flags of different colours, how many

different signals can be﻿ generated, if a signal

requires the use of 2 flags one below the

other?

https://dl.doubtnut.com/l/_9XkHZJ3yeFwP
https://dl.doubtnut.com/l/_WNEgwa2nr3Ho


Watch Video Solution

3. How many 2 digit even numbers can be

formed from the digits﻿ 1, 2, 3, 4, 5 if the digits

can be repeated?

Watch Video Solution

4. Find the number of different signals that

can be generated by arranging at﻿ least 2 flags

in order (one below the other) on a vertical

staff, if five different flags are﻿ available.﻿

https://dl.doubtnut.com/l/_WNEgwa2nr3Ho
https://dl.doubtnut.com/l/_R1K7s9I8Utno
https://dl.doubtnut.com/l/_xFyLSVnwpXfR


Watch Video Solution

5. Evaluate : (i) 5 ! (ii) 7 ! (iii) 7 ! - 5 !

Watch Video Solution

6. Compute (i)  (ii) 

Watch Video Solution

7!

5!

12!

(10!)(2!)

7. Evaluate , when n = 5, r = 2.
n !

r !(n − r) !

https://dl.doubtnut.com/l/_xFyLSVnwpXfR
https://dl.doubtnut.com/l/_1MS38CwutGvq
https://dl.doubtnut.com/l/_a2rq7XwcEg9S
https://dl.doubtnut.com/l/_1C8KonJmzAyB


Watch Video Solution

8. If , find x.

Watch Video Solution

+ =
1

8!

1

9!

x

10!

9. Find the number of permutations of the

letters of the word ALLAHABAD.

Watch Video Solution

https://dl.doubtnut.com/l/_1C8KonJmzAyB
https://dl.doubtnut.com/l/_X3kRzcw9TxVR
https://dl.doubtnut.com/l/_d5AEVxQzdI0v


10. How many 4-digit numbers can be formed

by using the digits 1 to 9 if﻿ repetition of digits

is not allowed?

Watch Video Solution

11. How many numbers lying between 100 and

1000 can be formed with the﻿ digits 0, 1, 2, 3, 4,

5, if the repetition of the digits is not allowed?

Watch Video Solution

https://dl.doubtnut.com/l/_FgsDmMm5DBN0
https://dl.doubtnut.com/l/_kqyIw95HcuR7
https://dl.doubtnut.com/l/_13TWkQJf5yLI


12. Find the value of n such that, 

Watch Video Solution

nP2 = 30

13. Find r, if 

Watch Video Solution

54Pr = 65Pr− 1

14. Find the number of different 8-letter

arrangements that can be made﻿ from the

https://dl.doubtnut.com/l/_13TWkQJf5yLI
https://dl.doubtnut.com/l/_3pI7dzMSJaY6
https://dl.doubtnut.com/l/_WyvkgYeV7j9W


letters of the word DAUGHTER so that﻿ all

vowels do not occur together.

Watch Video Solution

15. In how many ways can 4 red, 3 yellow and 2

green discs be arranged in﻿ a row if the discs of

the same colour are indistinguishable ?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_WyvkgYeV7j9W
https://dl.doubtnut.com/l/_Q3aYv7jxDsb2


16. Find the number of arrangemements of the

letters of the word INDEPEDENCE. In how many

of these arrangments , 

(i) DO the words start with P. 

(ii) DO all the vowels always occur together . 

(iii) Do the vowels never occur togather 

(Iv) do the words begin with I and end in P?

Watch Video Solution

17. If .nc9 =n c17

https://dl.doubtnut.com/l/_2IsRPLbsSzP1
https://dl.doubtnut.com/l/_I4NIufCxwsXF


Watch Video Solution

18. A committee of 3 persons is to be

constituted from a group of 2 men and﻿ 3

women. In how many ways can this be done?

How many of these committees would﻿ consist

of 1 man and 2 women?﻿

Watch Video Solution

19. What is the number of ways of choosing 4

cards from a pack of 52﻿ playing cards? In how

https://dl.doubtnut.com/l/_I4NIufCxwsXF
https://dl.doubtnut.com/l/_tgfGfnQX4RZv
https://dl.doubtnut.com/l/_kCpN9OxUpM88


many of these﻿ 

(i) four cards are of the same suit,﻿ 

(ii) four cards belong to four different suits,﻿ 

(iii) are face cards,﻿ 

(iv) two are red cards and two are black cards,﻿ 

(v) cards are of the same colour?﻿

Watch Video Solution

20. How many words, with or without meaning,

each of 3 vowels and 2﻿ consonants can be

https://dl.doubtnut.com/l/_kCpN9OxUpM88
https://dl.doubtnut.com/l/_lJJgcxrqGpYB


formed from the letters of the word INVOLUTE

?﻿

Watch Video Solution

21. A group consists of 4 girls and 7 boys. In

how many ways can a team of﻿ 5 members be

selected if the team has (i) no girl ? (ii) at least

one boy and one girl ?﻿ (iii) at least 3 girls ?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_lJJgcxrqGpYB
https://dl.doubtnut.com/l/_q6fYYhhA8rG0


22. Find the number of words with or without

meaning which can be made﻿ using all the

letters of the word AGAIN. If these words are

written as in a dictionary,﻿ what will be the 

word?

Watch Video Solution

50th

23. How many numbers greater than 1000000

can be formed by using the﻿ digits 1, 2,0, 2, 4,

2,4?﻿

https://dl.doubtnut.com/l/_lDJyJXrfiO64
https://dl.doubtnut.com/l/_Ji1a6lUuyqO3


Ncert Exemplar Problems Short Answer Type

Questions

Watch Video Solution

24. In how many ways can 5 girls and 3 boys be

seated in a row so that no﻿ two boys are

together?

Watch Video Solution

https://dl.doubtnut.com/l/_Ji1a6lUuyqO3
https://dl.doubtnut.com/l/_43lOdOMpNajl


1. Eight chairs are numbered 1 to 8. Two

women and 3 man wish to occupy one chair

each. First the women choose the chair each.

First the women choose the chairs from

amongst the chairs 1 to 4 and then men select

from the remaining chairs. Find the total

number of possible arrangments.

Watch Video Solution

https://dl.doubtnut.com/l/_alDM0LQieAob


2. If the letters of the word 'RACHIT' are

arranged in all possible ways as listed in

dictionary. Then, what is the rank of the word

'RACHIT' ?

Watch Video Solution

3. A candidate is required to answer 7

questions out of 12 questions, which are

divided into two groups, each containing 6

questions. He is not permitted to attempt

https://dl.doubtnut.com/l/_W2cqJTQpsFac
https://dl.doubtnut.com/l/_vkEoSlTO3Pvb


more than 5 questions from either group. Find

the number of different ways of doing

questions.

Watch Video Solution

4. Out of 18 points in a plane, no three are in

the same line except five points which are

collinear. Find the number of lines that can be

formed joining the point.

Watch Video Solution

https://dl.doubtnut.com/l/_vkEoSlTO3Pvb
https://dl.doubtnut.com/l/_YDLQSagpQGtz
https://dl.doubtnut.com/l/_BKpUer2ZgoPo


5. We wish tto select 6 person from 8 but, if

the person A is chosen, then B must be

chosen. In how many ways can selections be

made ?

Watch Video Solution

6. How many committee of five person with a

chairperson can be selected from 12 persons ?

Watch Video Solution

https://dl.doubtnut.com/l/_BKpUer2ZgoPo
https://dl.doubtnut.com/l/_Q3XZ8p6TKMGQ
https://dl.doubtnut.com/l/_PCQt3rImI9Sl


7. How many automobile licencse plates can be

made, if each plate contains two different

letters followed by three different digits ?

Watch Video Solution

8. A bag contains 5 black and 6 red balls.

Determine the number of ways in which﻿ 2

black and 3 red balls can be selected.﻿

Watch Video Solution

https://dl.doubtnut.com/l/_PCQt3rImI9Sl
https://dl.doubtnut.com/l/_SjgUSJ0AYMY7


9. Find the number of permutations of n

distinct things taken r together, in which 3

parritcular things must occur together.

Watch Video Solution

10. Find the number of different words that

can be formed from the letters of the word

TRIANGlE, so that no vowels are together.

Watch Video Solution

https://dl.doubtnut.com/l/_HaSfD6B7BVrp
https://dl.doubtnut.com/l/_pjelHdTAczFO
https://dl.doubtnut.com/l/_fF7OFQNbrFmu


11. Find the number of popstive integers

greater than 6000 and less than 7000 which

are divisible by 5, provided that no digit is to

be repeated.

Watch Video Solution

12. There are 10 persons named

 Out of 10 persons, 5

persons are to be arrangement  must occur

where as  and  do not occur. Find the

number of such possible arrangements.

P1, P2, P3, .... , P10'

P1

P4 P5

https://dl.doubtnut.com/l/_fF7OFQNbrFmu
https://dl.doubtnut.com/l/_yIcMT8vsUAap


Watch Video Solution

13. There are 10 lamps in a hall, Each one of

them can be switched on independently. Find

the number of ways in which the hall can be

illuminted, 

Thinking Process : Total numbers of ways to

lightned room is out of given n bulbs at least

one or all bulls are lightened. we get total

number of ways using following fromula.

Watch Video Solution

https://dl.doubtnut.com/l/_yIcMT8vsUAap
https://dl.doubtnut.com/l/_rqjvo21bZCYz


14. A box contains two white, there black and

four red balls. In how many ways can there

balls be drawn from the box, if atleast one

black ball is to be included in the draw ?

Watch Video Solution

15. if 

,than find the value of 

Watch Video Solution

ncr− 1 = 36, ncr = 84 and ncr+ 1 = 126

rc2 .

https://dl.doubtnut.com/l/_dGMzqqIKGAGj
https://dl.doubtnut.com/l/_k97oD2kbqJ6a
https://dl.doubtnut.com/l/_TViYzzSsas81


16. Find the number of integers greater than

7000 that can be formed with the digits 3, 5, 7,

8 and 9 where no digit are repeated .

Watch Video Solution

17. If 20 lines are drawn in a plane such that no

two of them are paralled and no there are

concurrent, in how many points will thay

intersect each other ?

Watch Video Solution

https://dl.doubtnut.com/l/_TViYzzSsas81
https://dl.doubtnut.com/l/_3c4yQbGx2ekV


18. In a certain city, all telephone numbers

have six digits , the first two digits always

being 41 or 42 or 46 or 60 or 64. How many

telephone number have all six digits distinct ?

Watch Video Solution

19. In an examination, a student has to answer

4 questions out of 5 questioins, questions 1

and 2 are however compulsory. Determine the

number o f ways in which the student can

https://dl.doubtnut.com/l/_mKJz3NBhHDlB
https://dl.doubtnut.com/l/_SR2iebjYbjDK


make the choice . 

Thinking Process: We know that in selection of

r objects out of given n objects if p objects are

included then total numbers of selection 

are 

Watch Video Solution

(
n − p

r − p
).

20. If a convex polygon has 44 diagonals, than

find the number of its sides. 

Remember : Numbers of diagonal of the 

polygon having n sides = (
n

2
) − n.

https://dl.doubtnut.com/l/_SR2iebjYbjDK
https://dl.doubtnut.com/l/_TjsEi3EKYkPU


Ncert Exemplar Problems Long Answer Type

Questions

Watch Video Solution

1. 18 mice were placed in two experimental

groups and one control group with all groups

equally large. In how many ways can the mice

be placed into three groups ?

Watch Video Solution

https://dl.doubtnut.com/l/_TjsEi3EKYkPU
https://dl.doubtnut.com/l/_Hdk1H0LP5wQd


2. A bag contains six white marbles and five

red marbles. Can be drawn from the bag, if (i)

thay can be of any colour. (ii) two must be

white and two red. (iii) thay must all be of the

same colour.

Watch Video Solution

3. In how many ways can a football team of 11

players be selected from 16 players ? How

many of them will 

https://dl.doubtnut.com/l/_3Pe71sOQ3UT4
https://dl.doubtnut.com/l/_k2OlLuVlEifo


(j) Include 2 particular players ? 

(ii) Exclude 2 particular players ?

Watch Video Solution

4. A sports team of 11 students is to be

constituted, choosing alteast 5 from class XI

and atleast 5 from class XII. If there are 20

students in each of these classes, in how many

ways can the team be constituted ?

Watch Video Solution

https://dl.doubtnut.com/l/_k2OlLuVlEifo
https://dl.doubtnut.com/l/_OpqgoQD71EkP
https://dl.doubtnut.com/l/_3MsjtONTwJHx


5. A group consists of 4 girls and 7 boys. In

how many ways can a team of﻿ 5 members be

selected if the team has (i) no girl ? (ii) at least

one boy and one girl ?﻿ (iii) at least 3 girls ?﻿

Watch Video Solution

6. A committee of 6 is to be chosen from 10

men and 7 women. So as to contain atleast 3

man and 2 women. In how many different ways

can this be done, if two particular women

refuse to serve on the same committee ?

https://dl.doubtnut.com/l/_3MsjtONTwJHx
https://dl.doubtnut.com/l/_wkpSC36YMIxY


Watch Video Solution

7. if `nC_12 = nC_8, then n is equal to

A. 20

B. 12

C. 6

D. 30

Answer: 20

Watch Video Solution

https://dl.doubtnut.com/l/_wkpSC36YMIxY
https://dl.doubtnut.com/l/_ZCEyKFw1cN1o


Ncert Exemplar Problems Objective Type

Questions

1. The number of possible outcomes when a

coin is tossed 6 times is

A. 36

B. 64

C. 12

D. 32

https://dl.doubtnut.com/l/_ZCEyKFw1cN1o
https://dl.doubtnut.com/l/_8SZHqYxBthOl


Answer: D

Watch Video Solution

2. The number of different four - digit number

that can be formed with the digits 2, 3, 4, 7,

and using each digit only once is

A. 120

B. 96

C. 24

D. 100

https://dl.doubtnut.com/l/_8SZHqYxBthOl
https://dl.doubtnut.com/l/_oYPD32oPxJzt


Answer: B::D

Watch Video Solution

3. The sum of the digits in unit place of all the

numbers formed with the help of 3, 4, 5 and 6

taken all a time is

A. 432

B. 108

C. 36

D. 18

https://dl.doubtnut.com/l/_oYPD32oPxJzt
https://dl.doubtnut.com/l/_iOy2HoqePswi


Answer: A

Watch Video Solution

4. The total number of words formed by 2

vowels and 3 consonanats taken from 4 vowels

and 5 consonants is

A. 60

B. 120

C. 7200

D. 720

https://dl.doubtnut.com/l/_iOy2HoqePswi
https://dl.doubtnut.com/l/_c8o2WcbO5Hwa


Answer: B

Watch Video Solution

5. If a five-digit number divisible by 3 is to be

formed using the number 0, 1, 2, 3, 4 and 5

without repetitioins, then the total number of

ways this can done is

A. 216

B. 600

C. 240

https://dl.doubtnut.com/l/_c8o2WcbO5Hwa
https://dl.doubtnut.com/l/_YVUcgj45x64S


D. 3125

Answer: A::B

Watch Video Solution

6. Everybody in a room shakes hands with

everybody else. If the total number of hand

shakes is 66, then the total number of persons

in the room is

A. 11

https://dl.doubtnut.com/l/_YVUcgj45x64S
https://dl.doubtnut.com/l/_xUqmGLqPn30d


B. 12

C. 13

D. 14

Answer: A::B

Watch Video Solution

7. The number of triangles that are formed by

choosing the vertices from a set of 12 points,

saven of which lie on the same line is

https://dl.doubtnut.com/l/_xUqmGLqPn30d
https://dl.doubtnut.com/l/_GtQmUabCyisU


A. 105

B. 15

C. 175

D. 185

Answer: A

Watch Video Solution

8. The number of parallelogrames that can be

formed from a set of four parallel lines

https://dl.doubtnut.com/l/_GtQmUabCyisU
https://dl.doubtnut.com/l/_AQvLmMQujjPL


intersecting another set of three parallel lines

is

A. 6

B. 18

C. 12

D. 9

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AQvLmMQujjPL


9. The number of ways in which a team of

eleven players can be selected from 22 players

always including 2 of them and excluding 4 of

them is

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

16C11

16C5

16C9

20C9

https://dl.doubtnut.com/l/_k2QVZPLJoWr3


Watch Video Solution

10. The number of 5 digit telephone numbers

having atleast one of their digits repeated is

A. 90000

B. 10000

C. 30240

D. 69760

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_k2QVZPLJoWr3
https://dl.doubtnut.com/l/_TbZpBgjcIqDR


11. The number of ways in which we can choose

a committee from four men and six women, so

that the committee includes atleast two men

and exactly twice as many women as men is

A. 94

B. 125

C. 128

D. None of these

Answer: D

https://dl.doubtnut.com/l/_TbZpBgjcIqDR
https://dl.doubtnut.com/l/_wmF3PGCq5mPq


Watch Video Solution

12. .........are the 9 digit numbers formed from

the number with all digits different.

A. 10!

B. 9!

C. 

D. 

Answer:

Watch Video Solution

9 × 9!

10 × 10!

https://dl.doubtnut.com/l/_wmF3PGCq5mPq
https://dl.doubtnut.com/l/_eUZ44QovBUUf


13. The number of words which can be formed

out of the Letters of the word 'ARTICLE, so that

vowels occupy the even place in

A. 1440

B. 144

C. 7!

D. 

Answer: A::D

4C4 × 3C3

https://dl.doubtnut.com/l/_eUZ44QovBUUf
https://dl.doubtnut.com/l/_iRRif09su0sL


Watch Video Solution

14. Given 5 different green dyes, four different

blue dyes and three different red dyes, the

number of combinations of dyes which can be

chosen taking atleast one green and one blue

dye is 

Thinking Process : The numbers of ways to

select dyes from 5 green, 4 blue and 3 red are

 and  respectyively.

A. 3600

25, 24 23

https://dl.doubtnut.com/l/_iRRif09su0sL
https://dl.doubtnut.com/l/_2H1sGm2AXXgg


B. 3720

C. 3800

D. 3680

Answer: B::C

Watch Video Solution

15. If 840 and , then r is equal

to....

Watch Video Solution

nPr = nCr = 35

https://dl.doubtnut.com/l/_2H1sGm2AXXgg
https://dl.doubtnut.com/l/_JJG4bU4CVA8p


Ncert Exemplar Problems Fillers

1. 

Watch Video Solution

(
15

8
) + (

15

9
) − (

15

6
) − (

15

7
) = ......

2. The number of permutations of n different

objects, taken r at a line, when repetitions are

allowed, is ……

Watch Video Solution

https://dl.doubtnut.com/l/_O9vG3VD83WvM
https://dl.doubtnut.com/l/_rIiyHueIyFJ7
https://dl.doubtnut.com/l/_CVzHqBqzTbg4


3. Different words are formed by arranging the

letters of the word 'SUCCESS' 

Q. the number of words in which no two C's

and no two S's are together, is

Watch Video Solution

4. Three balls are drawn from a bag contaning

5 red, 4 white and 3 black balls. The number of

ways in which this can be done, if atleast 2 are

red, is.

Watch Video Solution

https://dl.doubtnut.com/l/_CVzHqBqzTbg4
https://dl.doubtnut.com/l/_SAblEJjnrzAm


5. The number of six digit number all digit of

which are odd, is ……

Watch Video Solution

6. In a football championship, 153 matches

ware played. Every two teams played one

match with each other. The number of teams,

participating in the championship is ………

Watch Video Solution

https://dl.doubtnut.com/l/_SAblEJjnrzAm
https://dl.doubtnut.com/l/_oPbwMvTJLsDd
https://dl.doubtnut.com/l/_sphHZk7hLMnA


7. The total number of ways in which six '+' and

four '_' signs can be arranged in a line such

that no two '_' signs occur together , is …….

Watch Video Solution

8. A box contains 2 white balls, 3 black balls

and 4 red balls. The number of ways three

balls be drawn from the box, if atleast one

black ball is to be included in the draw is ……

Watch Video Solution

https://dl.doubtnut.com/l/_sphHZk7hLMnA
https://dl.doubtnut.com/l/_azkGM7ekPwFu
https://dl.doubtnut.com/l/_L0qrmxoS5SGQ


Ncert Exemplar Problems True False

1. There are 12 points in a plane of which 5

points are collinear, then the number of lines

obtained by joining these points in pair is

Watch Video Solution

12C2 − 5C2 + 1,

https://dl.doubtnut.com/l/_L0qrmxoS5SGQ
https://dl.doubtnut.com/l/_veU8k42ZAouZ


2. Three Letters can be posted in five letter

boxes in  ways.

Watch Video Solution

35

3. In the permutations of n things r, taken

together, the number of permutation in which

m perticular things occur together is

Watch Video Solution

( n − m) P ( r− m) × rPm.

https://dl.doubtnut.com/l/_knxxELSY5jKz
https://dl.doubtnut.com/l/_kj7Ytv1DDobP
https://dl.doubtnut.com/l/_1QjXhVBxnEjE


4. In a steamer there are stalls for 12 animals

and there are horses, cows and calves (not less

then 12 each ) ready to be shipped. They can

be loaded in 3^12 ways.

Watch Video Solution

5. If some or all of n objects are taken at a time

then the number of combinations is 

Watch Video Solution

2n − 1.

https://dl.doubtnut.com/l/_1QjXhVBxnEjE
https://dl.doubtnut.com/l/_LmcNfTdZatZH
https://dl.doubtnut.com/l/_nXFKBjWPBp52


6. A bag contains 4 white and 5 black balls.

Another bag contains 9 white and 7 black

balls. A ball is transferred from the first bag to

the second and then a ball is drawn at random

from the second bag. Find the probability that

the ball drawn is white.

Watch Video Solution

7. There are 2n guests at a dinner party.

Supposing that the master annd mistress of

the house have fixed seats opposite one

https://dl.doubtnut.com/l/_nXFKBjWPBp52
https://dl.doubtnut.com/l/_jOog2EvmBKku


another and that there are two specified

guests who must not be placed next to one

another. Find the number of ways in which the

company can be placed.

Watch Video Solution

8. A candidate is required to answer 7

questions out of 12 questions, which are

divided into two groups, each containing 6

questions. He is not permitted to attempt

more than 5 questions from either group. Find

https://dl.doubtnut.com/l/_jOog2EvmBKku
https://dl.doubtnut.com/l/_fL1zstNhPjBP


the number of different ways of doing

questions.

Watch Video Solution

9. To fill 12 vacancies there are 25 candidates of

which 5 are from scheduled castes. If 3 of the

vacanies are reserved for scheduled caste

candidates while the rest are open to all, the

number of ways in which the selection can be

made is 

Watch Video Solution

5C3 × 22C9.

https://dl.doubtnut.com/l/_fL1zstNhPjBP
https://dl.doubtnut.com/l/_SX9w9j0kcfbK


Ncert Exemplar Problems Matching The Columns

1. There are 3 books on Mathematics ,4 on

physics and 5 on English , Howm any different

collections can be made such that each

collection consists ? 

Watch Video Solution

https://dl.doubtnut.com/l/_SX9w9j0kcfbK
https://dl.doubtnut.com/l/_Ql09utA8SNHK
https://dl.doubtnut.com/l/_zYrcCmbcWH9f


2. Five boys and five girls form a line. Find the

number of ways of making the seating

arrangement under the following condition. 

Watch Video Solution

3. There are 10 professors and 20 lecturers,

Out of whom a committee of 2 professors and

https://dl.doubtnut.com/l/_zYrcCmbcWH9f
https://dl.doubtnut.com/l/_z0l0Lek9zk3u


3 lecturers is to be formed, find 

Watch Video Solution

4. Using the digit 1, 2, 3, 4, 5, 6, and 7, a number

of 4 different digit is formed find, 

https://dl.doubtnut.com/l/_z0l0Lek9zk3u
https://dl.doubtnut.com/l/_utCQKJ5O9vTk


Watch Video Solution

5. How many words (with or without dictionary

meaning) can be made from the letters of the

word 'MONDAY', assuming that no letter is

https://dl.doubtnut.com/l/_utCQKJ5O9vTk
https://dl.doubtnut.com/l/_R7iEZ7RnD0YS


Practice Work

repeated, if 

Watch Video Solution

1. How many 4-digit number can be formed

with the digit 1, 2, 3, 4, 6 and 8 if repetition of

digits is not allowed.

Watch Video Solution

https://dl.doubtnut.com/l/_R7iEZ7RnD0YS
https://dl.doubtnut.com/l/_FZyXst9qJHUC


2. How many 3- digit even numbers are formed

using the digits 0, 1, 2, …… 9, if the repetition of

digit is not allowed ?

Watch Video Solution

3. Find the number of 4-letter words with or

without meaning which can be formed out of

the letters of the word KENY when, 

https://dl.doubtnut.com/l/_FZyXst9qJHUC
https://dl.doubtnut.com/l/_xBzrNb4DPFmj
https://dl.doubtnut.com/l/_uJHSSpkveVZb


The repetition of letters is not allowed. 

E is at first place.

Watch Video Solution

4. How many four digit odd number are there

? (Repetition of digit is not allowed )

Watch Video Solution

5. How many number between 99 and 1000 are

there if (i) Last digit is 0 ? (ii) Last digit is 5 ?

https://dl.doubtnut.com/l/_uJHSSpkveVZb
https://dl.doubtnut.com/l/_dgKnxSb9JBLl
https://dl.doubtnut.com/l/_Sdb8uiWo8uNr


Watch Video Solution

6. Evaluate : 

(i)  


(ii)  (iii) 

Watch Video Solution

2 × 6! − 3 × 5!

8!

4!

20!

18!(20 − 18) !

7. IF  find .

Watch Video Solution

(n + 2) ! = 2550n ! n

https://dl.doubtnut.com/l/_Sdb8uiWo8uNr
https://dl.doubtnut.com/l/_e7x916s39V0R
https://dl.doubtnut.com/l/_Bwtzei9B1pTw
https://dl.doubtnut.com/l/_0SFXRdDjXcwQ


8. Prove that 

Watch Video Solution

(n !)(n + 2) = [n ! + (n + 1) !]

9. if  then find x.

Watch Video Solution

+ =
1

7!

1

9!

x

10!

10. Evaluate : 

Watch Video Solution

(12!) − (10!)

9!

https://dl.doubtnut.com/l/_0SFXRdDjXcwQ
https://dl.doubtnut.com/l/_hC7jywCs1Clq
https://dl.doubtnut.com/l/_JFv4DGqlnlYR
https://dl.doubtnut.com/l/_BkweqR9zF6zj


11. How many words can be formed out of the

letters of the word VOWEL. So that the vowels

occupy the vowels place ?

Watch Video Solution

12. How many words, with or without meaning

can be made from the letters of the﻿ word

MONDAY, assuming that no letter is repeated,

if.﻿ 

(i) 4 letters are used at a time,﻿ (ii) all letters

are used at a time,﻿ 

https://dl.doubtnut.com/l/_BkweqR9zF6zj
https://dl.doubtnut.com/l/_eVp41xa2Fiud


(iii) all letters are used but first letter is a

vowel?

Watch Video Solution

13. How many words can be made form the

letters of the word DAUGHTER assuming that

no letter is repeated ? How many words can be

made from this word in which so that

consonants and vowels occupy their own place

?

Watch Video Solution

https://dl.doubtnut.com/l/_eVp41xa2Fiud
https://dl.doubtnut.com/l/_e2Q8gHUIUuQP


14. How many three-digit numbers can be

made using the digits 0, 1, 2, …, 9, if no digit is

repeated ?

Watch Video Solution

15. From a committee of 10 persons, in how

many ways can we choose a chairman, vice-

chairman and president assuming one peron

can not hold more than one position ?

https://dl.doubtnut.com/l/_e2Q8gHUIUuQP
https://dl.doubtnut.com/l/_R04W7qVdBDK4
https://dl.doubtnut.com/l/_GsawwoiFuwuw


A. 

B. 

C. 

D. 

Answer: 720

Watch Video Solution

16. How many 3-digit even numbers that can

be formed using the digit 2,4,6,8 ?

https://dl.doubtnut.com/l/_GsawwoiFuwuw
https://dl.doubtnut.com/l/_CJw6kVAdTndX


Watch Video Solution

17. Find 

Watch Video Solution

r : 5Pr = 426Pr− 1

18. Prove that ,

Watch Video Solution

nPr = ( n − 1 ) Pr + r. n − 1P ( r− 1 )

https://dl.doubtnut.com/l/_CJw6kVAdTndX
https://dl.doubtnut.com/l/_4sQfR4nqVMbM
https://dl.doubtnut.com/l/_aZey95Fpj2Vl


19. If 840 and , then r is equal

to....

Watch Video Solution

nPr = nCr = 35

20. If  then find n.

Watch Video Solution

( n + 2 ) C8 : ( n − 2 ) P4 = 57: 16

21. If  then find .

Watch Video Solution

nC10 = nC12
23Cn

https://dl.doubtnut.com/l/_ZnRScgpMi6bt
https://dl.doubtnut.com/l/_ahsbTIBhgkin
https://dl.doubtnut.com/l/_MJnfEzSx5M5j


22. In how many ways can a football team of 11

players be selected from 16 players ? How

many of them will 

(j) Include 2 particular players ? 

(ii) Exclude 2 particular players ?

Watch Video Solution

23. A committee of 7 has to be formed from 9

boys and 4 girls. In how many ways﻿ can this be

https://dl.doubtnut.com/l/_MJnfEzSx5M5j
https://dl.doubtnut.com/l/_ONpMSu52qNUA
https://dl.doubtnut.com/l/_23rRdJvArIPi


done when the committee consists of:﻿ 

(i) exactly 3 girls ? (ii) atleast 3 girls ? (iii)

atmost 3 girls ?﻿

Watch Video Solution

24. A polygon has 65 diagonals, then find the

number of its side.

Watch Video Solution

https://dl.doubtnut.com/l/_23rRdJvArIPi
https://dl.doubtnut.com/l/_5QtPG4IVa6Pq


25. What is the number of ways of choosing 4

cards from a pack of 52﻿ playing cards? In how

many of these﻿ 

(i) four cards are of the same suit,﻿ 

(ii) four cards belong to four different suits,﻿ 

(iii) are face cards,﻿ 

(iv) two are red cards and two are black cards,﻿ 

(v) cards are of the same colour?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_8dZ5ipzJHJdw


26. How many four digit numbers divisible by 4

can be made with the digit 1, 2, 3, 4, 5, 6. If the

repetition of the digit is not allowed ?

Watch Video Solution

27. How many different words can be formed

by using all the letters of the word ZERO

without repetition ? What is the rank of the

word ZERO in a dictionary ?

Watch Video Solution

https://dl.doubtnut.com/l/_iwI9aBxa1LVt
https://dl.doubtnut.com/l/_re6AIbOMLuHN


28. 6 letters be posted by 3 boxes. The number

of ways of posting the letters when no

letterbox remains empty is ?

Watch Video Solution

29. How many different words can be formed

by using all the letters of the word

MATHEMATICS ? In how many of them, vowels

are always together ?

Watch Video Solution

https://dl.doubtnut.com/l/_re6AIbOMLuHN
https://dl.doubtnut.com/l/_RZB3HET9OwKd
https://dl.doubtnut.com/l/_ZPL1ihVHUEW5


30. In how many different words can be

formed by using all the letters of the word

ARROW if the two R's are not together ?

Watch Video Solution

31. In a room, there are 12 bulb of same

waltage each having a separate switch. The

number of ways to light the room with

https://dl.doubtnut.com/l/_ZPL1ihVHUEW5
https://dl.doubtnut.com/l/_83COx5GlAFRV
https://dl.doubtnut.com/l/_JssNMgHt7SpK


different amounts of illamination is how much

?

Watch Video Solution

32. There are 8 points in a plane. Out of them,

3 points are collinear. Using them how many

triangles are formed ? How many lines are

there passing through them ? How many line

segment we get ?

View Text Solution

https://dl.doubtnut.com/l/_JssNMgHt7SpK
https://dl.doubtnut.com/l/_ttb3FMdIQFaJ
https://dl.doubtnut.com/l/_bQ5JuLtdc0KI


33. What is the number of ways of choosing 3

cards from a pack of 52 playing cards ? In how

many of these three cards are face cards. In

how many of these cards are of same colour ?

In how may of these cards of the same suit ?

Watch Video Solution

34. A box contains 2 white balls, 3 black balls

and 4 red balls. The number of ways three

balls be drawn from the box, if atleast one

black ball is to be included in the draw is ……

https://dl.doubtnut.com/l/_bQ5JuLtdc0KI
https://dl.doubtnut.com/l/_AALgr32OsHv2


Watch Video Solution

35. How many numbers greater than 7000 can

be formed with the digits 2, 5, 6, 8, 9 without

repetition ?

Watch Video Solution

36. Determine the number of 5 cards

combinations out of a deck of 52 cards, if at

least one of the 5 cards has to be an ace ?

https://dl.doubtnut.com/l/_AALgr32OsHv2
https://dl.doubtnut.com/l/_SC1fVzpb6AI2
https://dl.doubtnut.com/l/_WiozC6X7795Y


Watch Video Solution

37. How many different words can be formed

by using all the letters of the word ALLAHABAD

? In how many of them, vowels occupy the

even position ? In how many of them has two

L's are not together ?

Watch Video Solution

38. Find the number of ways in which 4 boys

and 4 girls be seated in a row so that, 

https://dl.doubtnut.com/l/_WiozC6X7795Y
https://dl.doubtnut.com/l/_pSVwzN35330N
https://dl.doubtnut.com/l/_PkX5qEqx9WQs


(i) No two girls may sit together. 

(ii) All the girls sit together and all the boys sit

together.

Watch Video Solution

39. How many four digit numbers are formed

using the digit 2745 without repetition ? Out

of them, how many are divisible by 3 ? Out of

them how many are divisible by 9 ?

Watch Video Solution

https://dl.doubtnut.com/l/_PkX5qEqx9WQs
https://dl.doubtnut.com/l/_5Pij3Or2zzLa
https://dl.doubtnut.com/l/_qDcBee9MI5ch


40. How many three digit numbers are there

multiple of 5 ? (without repetition)

Watch Video Solution

https://dl.doubtnut.com/l/_qDcBee9MI5ch

